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Question 1 3marks

You are walking in a shopping mall at a speed of 3.6 km/hour while connected to a base station
at a frequency of 3 GHz. Assuming Clarke’s model applies, how many times per minute does the
received signal level drop 10 dB below the mean?

Question 2 5marks

A multipath channel has three paths with lengths 𝑑0 = 300 m, 𝑑1 = 600 m and 𝑑2 = 900 m. The
received signal level on each path is inversely proportional to the square of the path length: 𝑃𝑖 =

𝑘
𝑑2

where 𝑘 is unknown. What are the excess delays, the normalized power delay profile, the mean
excess delay and the RMS delay spread? Hint: assume 𝑘 = 3002.
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